Please check the examination details below before entering your candidate information

(Candidate surname Other names )
J
Pearson Edexcel Centre Number Candidate Number
International
Advanced Level

Paper

Time 1 hour 45 minutes
reference

Physics
International Advanced Level
Unit 4: Further Mechanics, Fields and Particles

. S

. N\
You must have: Total Marks
Scientific calculator, ruler

. 7

Instructions

® Use black ink or ball-point pen.
® Fill in the boxes at the top of this page with your name,
centre number and candidate number.
® Answer all questions.
® Answer the questions in the spaces provided
— there may be more space than you need.
® Show all your working out in calculations and include units where appropriate.

Information

® The total mark for this paper is 90.

® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

® In questions marked with an asterisk (¥), marks will be awarded for your ability to
structure your answer logically showing how the points that you make are related or
follow on from each other where appropriate.

® The list of data, formulae and relationships is printed at the end of this booklet.

Advice

® Read each question carefully before you start to answer it.
® Try to answer every question.

® Check your answers if you have time at the end.

® Good luck with your examination.

Turn over

©2021 Pearson Education Ltd.
: : P66 6 16 A 0 1 3 2

Ly Pearson



SECTION A
Answer ALL questions.

For questions 1-10, select one answer from A to D and put a cross in the box [X.
If you change your mind, put a line through the box 8¢ and then
mark your new answer with a cross [X.

1 Which of the following is a fundamental particle?

— [] A antiproton
— [J B muon
— 1 C neutron
— [J D pion
(Total for Question 1 =1 mark)
2 In the early 20th century, scattering experiments were carried out by directing high speed
alpha particles at thin metal foils.
Which of the following could not be concluded from these experiments?
— [J A Most of the atom is empty space.
— [J B The nucleus of the atom is positively charged.
— [ C There is a concentration of charge in the atom.
— [ D There is a concentration of mass in the atom.
(Total for Question 2 =1 mark)
3 Neutrinos can interact with protons to create neutrons.
Which of the following equations shows this process?
— 0 A v.+tp—e +n
— [ B v.+tp—e +n
— [ C v.,tp—e +n
— [J D Vv.tp—e+n
(Total for Question 3 = 1 mark)
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4 1In 2015, a pentaquark was discovered.
The pentaquark was made of 5 quarks, c, c, d, u, u.
The pentaquark can form a baryon-meson combination.
Which row of the table shows a possible arrangement of the quarks?
Quarks in baryon Quarks in meson
I A duu cc
I B ucu dc
] C cu duc
] D ud ccu
(Total for Question 4 = 1 mark)
5 The diagram represents an arrangement to demonstrate electron diffraction.

hot filament anode
/ fluorescent screen
p
,{,'—Ax _L\ 0
o 3 ] 7
N\
- +
OLIC
sample vacuum

A beam of electrons is directed at a sample of crystalline material.

Which of the following single changes would decrease the angle of diffraction 6?

[J A decrease the distance between the sample and the screen

=

increase the anode potential V'

@)

increase the current in the filament

0
0
0

=)

use a sample with a smaller atomic spacing

(Total for Question 5 = 1 mark)
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6 A coil of wire is connected to a resistor as shown.

¥

magnetic

field coil resistor

The magnetic flux density of the field through the coil is increased steadily from zero to
a maximum value.

Which of the following single changes would result in a smaller current in the resistor?

[] A increasing the area of the coil in the magnetic field

[] B increasing the maximum flux density

[J C increasing the number of turns on the coil

[] D increasing the time taken to reach the maximum flux density

(Total for Question 6 = 1 mark)

7 A sphere travelling at speed v collides elastically with an identical sphere which is at rest.

After the collision, both spheres move off at an angle 6 to the direction of travel of the
first sphere, as shown. The spheres have the same speed as each other.

0
V
® O ;
Before collision After collision

What is the speed of the spheres after the collision?

0 A v
%
0 B ——
V2
%
I ¢ <
2
%
LI D 2
(Total for Question 7 = 1 mark)
4
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8 The diagram shows two metal plates with a potential difference J across them.
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The path of an electron travelling between the plates is shown.

+V

electron

path

0

The electron is deviated through an angle 6.

Which row of the table shows changes that will cause 6 to decrease?

V Distance between plates

doubled halved

doubled unchanged

halved doubled

O o o o
S O = »

unchanged halved

(Total for Question 8 = 1 mark)
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9 A proton travelling at speed v enters a magnetic field of magnetic flux density 5.00T, as shown.

path of proton

5.00T

A force of 1.20 x 10" N is exerted on the proton.

Which of the following gives the speed of the proton in ms™'?

1.20x10™"

- 5.00x1.67x107

1.20%x10™"
5.00x1.60x107"

5.00x1.67x107%
1.20x10™"

5.00%x1.60x107"
1.20x10™"

(Total for Question 9 = 1 mark)

10 The structure of nucleons can be investigated using electrons with high energies.

Which of the following is the reason why high energies are required?

to allow for the creation of new particles
to overcome the repulsive electrostatic forces
to produce a relativistic increase in particle lifetime

to produce short de Broglie wavelengths

(Total for Question 10 = 1 mark)

TOTAL FOR SECTION A =10 MARKS
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SECTION B &
Answer ALL questions. Write your answers in the spaces provided. O

11 In 1821, Michael Faraday made what is believed to be the first electric motor. 3:%‘:;3
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The stiff wire was suspended freely from a stand. The mercury completed an electrical
circuit, which included the wire. When there was a current in the wire, the wire moved
around the magnet.

(a) The wire made 10 complete revolutions around the magnet in a time of 8.3s.

Calculate the angular velocity of the wire.

..vv
TR

Angular velocity = ...

%038

OO
oo
<
Y.<
s
255

K
2

<
55
R

%
fososeteses
XXX

P 6 6 6 1 6 A 0 8 3 2



OO
(R

SRS
o todededels

o
RS

5
SRKIKRKILR

(b) When the current in the wire is 1.1 A, the wire is at an angle of 10° to the vertical.
The length of the wire in the horizontal magnetic field is 3.5cm.
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(Total for Question 11 = 6 marks)
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12 In 1931, Sloan and Lawrence built a linear accelerator (linac) with several drift tubes.
They used the linac to accelerate mercury ions up to energies of 1.26 MeV. The behaviour
of the particles was non-relativistic.

(a) The kinetic energy of a non-relativistic particle of mass m with momentum p is
given by

E .=

Derive this formula.

(b) A mercury ion with kinetic energy 6.42 x 107" J leaves a drift tube, as shown.

drift tube drift tube

/
i )

path of mercury ion

Calculate the momentum of the mercury ion when it reaches the next drift tube.

mass of mercury ion = 3.32 x 10 kg

charge of mercury ion = 1.60 x 10" C

electric field strength between drift tubes = 7.64 x 10°Vm'
distance between drift tubes = 5.50 x 10°m

(Total for Question 12 = 6 marks)
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13 The photograph shows a track for a toy car. The car moves down the track towards a
circular loop. The loop starts at point A.

release
point
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If the release point of the car is high enough, the car moves fast enough to pass point C
and complete the loop, continuing to the end of the track at point D.
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If the release point is too low, the car falls off the track between point B and point C.
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Deduce whether a car released from a vertical height of 25 cm above point A will
complete the loop and reach point D. You should assume that friction is negligible.
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(Total for Question 13 = 6 marks)
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*14

A student carried out an investigation of Lenz’s law. A copper tube was suspended from a force
meter, as shown.

A magnet was released at the top of the tube. When the magnet was falling through the
tube, there was an increased reading on the force meter.

| force meter

magnet

| copper tube
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15 Some asteroids pass very close to the Earth. Scientists are planning methods to deflect
asteroids, to prevent them hitting the Earth.

One method would involve colliding a spacecraft into the surface of the asteroid, to
change the path and speed of the asteroid. The spacecraft would remain joined to the
asteroid after the collision.

(a) This collision method is modelled for a spacecraft travelling in a direction at 90° to
the path of the asteroid.

Sketch a labelled vector diagram to show the momenta of the bodies before and
after the collision.

(2)

(b) Show that the momentum of the spacecraft is about 10" Ns.

mass of spacecraft = 920kg
speed of spacecraft = 12000ms "'

(c) Show that this collision method causes the asteroid to change its direction through
an angle of about 10’ radian.

momentum of asteroid = 7.6 x 10 N's
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(d) After the collision, the asteroid and spacecraft remain joined and move together.
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Calculate the component of their velocity at 90° to the original path of the asteroid
after the collision.

mass of asteroid = 2.8 x 10°kg
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(e) Another method would involve attaching a rocket motor to the asteroid and using
the motor to apply a force to the asteroid.
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In this method the force is applied at 90° to the path of the asteroid.

Deduce whether this would produce a change in momentum as great as the change
produced by the collision method.

force exerted by rocket motor = 5.1 x 10°N
time for which rocket motor applies force = 6 minutes
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16 A point positive charge and a point negative charge are placed 8.0cm apart at X and Y,
as shown.

X Y

(a) Calculate the magnitude of the electric field strength midway between X and Y.

charge at X =+2.5x 107 C
chargeat Y =—2.5x107C

Electric field strength = ...

(b) The diagram below represents the electric field for this combination of charges.

B

* >

(1) Add dashed lines to the electric field diagram to show equipotentials for this
combination of charges.
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(i) A textbook states, “An electric field line shows the path a free positive test
charge follows”.

Discuss the accuracy of this statement for free positive test charges placed at
point A and at point B.
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(c) The charges at X and Y are replaced by charges of twice the magnitude.

8.0cm

2.5cm 2.5cm

X C D Y

C and D are points between the charges.

Determine the magnitude of the potential difference between points C and D.

charge at X =+5.0 x 107C
charge at Y =-5.0x 107C

Magnitude of potential difference =

(Total for Question 16 = 14 marks)
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17 A student investigated the properties of capacitors.

The student connected a capacitor in series with a resistor. The capacitor was charged
through the resistor by applying a potential difference (p.d.) using a battery of e.m.f.
6.0V and negligible internal resistance. The capacitor was then discharged through the
resistor. The p.d. across the capacitor was measured during the charging and discharging
processes.

(a) Add to the diagram to show a suitable circuit for charging and discharging the
capacitor while measuring the p.d. across it.

3)

1

(b) The graph shows how the p.d. across the capacitor varies with time as it is being
charged by the 6.0V battery.

7.00

6.00

5.00

4.00
p.d./V

3.00

2.00

1.00

0.00 T T T T T 1
0.0 5.0 10.0 15.0 20.0 25.0 30.0

Time / s

(1) Sketch, on the same axes, a graph to show how the p.d. across the resistor varies
with time.

2
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(i1) Show that the p.d V across the capacitor when it is charging is given by

V="V,-Vye"*

where V), is the e.m.f. of the battery

¢ is the time

R is the resistance of the resistor
and  C is the capacitance of the capacitor.

3)
(ii1) During the charging process, the student recorded the p.d. across the capacitor
and the resistance of the resistor.
The capacitors available had the following values:
10 puF 15puF 47 uF 100 puF 150 uF
Deduce the value of capacitance for the capacitor that was used.
R =330kQ
4)
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(iv) Calculate the charge on the fully charged capacitor.

(v) Calculate the energy stored by the fully charged capacitor.

Energy stored = ...

(Total for Question 17 = 16 marks)
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18 In 1932, Carl Anderson published this photograph of a track in a cloud chamber. The cloud
chamber contained a lead plate. There was a magnetic field perpendicular to the plane of
the track.
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(Source: Anderson, Carl D. (1933). “The Positive Electron”. Physical Review 43 (6): 491-494.
DOI:10.1103/PhysRev.43.491.)
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The photograph shows the track of a positron from cosmic rays and is the first photographic
record of the existence of an antiparticle.

(a) State the properties of a positron that show it is the antiparticle to the electron.
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(c) In the upper part of the photograph the positron had an energy of 23 MeV.

(1) Show that the positron must have been travelling at a relativistic speed. Assume
that all of its energy is kinetic energy.

3)

(i1) For relativistic particles such as this positron, momentum obeys the relationship

E=pc
where E = particle energy, p = particle momentum and ¢ = speed of light.
Determine the magnetic flux density of the magnetic field.

radius of curvature of path = 3.7cm
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(d) A positron travelling at a non-relativistic speed of 1.5 x 10'ms™" collides with an
electron travelling at the same speed in the opposite direction. This collision results
in the production of gamma radiation.

Calculate the frequency of the gamma radiation produced.

Frequency = ...,

(Total for Question 18 = 16 marks)
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Unit 4
Mechanics
Impulse

Kinetic energy of a
non-relativistic particle

motion in a circle

Centripetal force

Electric and magnetic fields

Electric field

Coulomb’s law

Electrical Potential

Capacitance

Energy stored in capacitor

Capacitor discharge
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Nuclear and particle physics

Resistor capacitor discharge

In a magnetic field

Faraday’s and Lenz’s laws

In a magnetic field

Mass-energy

[ =] e"RC
0

V= Voe—t/RC
nQ@=mo,-%e

t
lnl_lnlo_ﬁ

t
In V,— E
F = Bqgvsin 0
= BIl sin 0

InV

B
|

AE = > Am

30

P 6 6 6 1 6 A 0 3 0 3 2

LSRR
KRS,
LRI,
SRR
G,

v ’
S

Ko
festendl

>
%
<
e
LIRS

QK
INetsetetetotete
o 1 30
o= %
TR

S

OO
LR
MACKY
RS

%
&
)

%

0%
KKK IRIHRK AR

ORI K
%

I,
oot ot tetetetotetetetedotetotet

¢
boet
Q’
0
bose

%%

¢
5
20%%%
Qf
S5
'8

R
o> ated
.¢vwv
KL
S

R
S
X %

O
[0y K~

0 9099
XK
AL
:???\
<Y
s

(0090008,
%

0 00
XK
X
>

19000000,
SRR

RS
00%’ %

K
G
oot etaletotetetetel

3

ool
0%
SRR

<
$56%6%%
%
<
SREKL

SR8
RS

SRKK
ULRIK



<

R
RSB
000

N
Sosesesed
QKKK
KK

%%
<

LR

%
SERRRKR

X

%o
SeSetedss
SRR
S
2006
SR

3
RRSERE
%éﬁv&
58
¢
X5

ot
o
RS
ot
2K

<K
<X
5

5
KK
9%
o0
'
S
o

QAN

REELRES
3
1A

<
X

99 %
o
=y
250

O
batoesetets
ISR
&"&»
sl
RLRK

OO
opesetesete’s
T
S50
0ol

S
i’
"\
o%¢

4

R
So%ete!
<11
4
A
055
5

00
S
teteteteltete
KLk
SERLRESS
R

S
XXX

<
S
bose%s

X8
29
%%}

0
%
KR
55

55

SR
SRSES,
0000
KRS
QLK
SRR

<
S
"ﬁ%
0&4&?‘
%

Q0K
295%%
S

<
SRGERS

Ro5cs

A
RLRKKS

K
%
KKK

S
R
RXX5

0K

e
b

bt ?3
S
S
Boss o

IR LRRKLR,
SSELRRKESS

%
CRIIIEARIKIHRK

<
3&‘*»’?*
o0 J
2

5%

CERREHAR

KL ’o

%
X

S8
IR
X

2%
XS
o

AR
SR ARKLK

0>
RS
0%l
%!
SR
s
RRRIELRLLRRIERS

(X
5K
XY
0SS
%
<
K

000
53R
BB
SRS
5K
KRR
85

%
<

06
KKK
XX

5

5555
55

25
K
poseds

5
L R
S
%

05
RRELRLS
<5

<X

A
QUL LKLIES
S

XX
VT

300!
o
N

éﬁ%ﬁ’ %ﬂ%0§3

SRR HHKLS

s

o2}
o todeteds

KL
KKK

LKL
SRS
ZRLRRLRKLLS

LRKLHEK

OIS
oo

80908

S

!

050598

%
0%
o%
X2
0%
%
b

BLANK PAGE

P 6 6 6 1 6 A0 3 1 3 2

31




BLANK PAGE

32

P 6 6 6 1 6 A0 3 2 3 2

LSRR
KRS,
LRI,
SRR
G,

<

::‘Q‘}
Sorate

AL

Jo%es
<5
&
oo
%%
K

<3
%
&

o%
SRR
aV

e
o

%

0’0’0’0’0’0’0’0’0’0’0’0’0’0’0’0’0%’0’0’:.

5
o
%

KKK IRIHRK AR

!
oot ot tetetetotetetetedotetotet

0
boet
Q’
0
bose

%%

¢
5
20%%%
Qf
S5
'8

R
p>atel
..:»v«%’
KL
RISES

R
S
X %

X

095 %S
< X A
SSHELLS,
G052
25

SRR
(90950509
o



